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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

14.

SECTION - A

Why do we see stars twinkle ?

Draw structure of Ethyne (C,H,).

Give example of a food chain of four trophic levels that exists in a grassland.

Write full form of CFC.

(i) Show formation of rainbow with the help of a ray diagram.

(i) What are the conditions to observe rainbow ?

How did Newton show that white light of sun contains seven colours using two
prisms ? Draw a ray diagram when two prisms are arranged to-gather.

A 2.0 cm tall object is placed perpendicular to the principal axis of a convex lens of
focal length 10 cm. If distance of object from the optical centre of the lens is 15 cm, find
the position and size of image so formed.

State modern periodic law. How many groups and periods are there in the modern
periodic table ?

“Burning of fossil fuels results in global warming”. Justify this statement.

What is reuse strategy ? Reuse strategy is considered better than the recycling strategy.
Why ?

An element has electronic configuration 2,8,7 .
(a) To which group and period of modern periodic table does it belong ?

(b) It is metallic or non metallic ? Give reason.

How does Rhizopus multiply by spores ? Explain in brief. Sketch neat labelled diagram
of this method.

(i)  List two reproductive parts of a flower.

(i) How is a unisexual flower different from a bisexual flower ? State in brief.

An object is placed at a distance of 10 cm from a convex mirror of focal length 15 cm.
Find the position and nature of the image formed. Draw ray diagram to show the
image formation.
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15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

(a) State laws of refraction.

(b) A ray of light is incident normally to the surface of a glass slab placed in air. Find
the angle of incident and angle of refraction in this case.

(i) Least distance of distinct vision of a long sighted person is 40 cm. He wishes to
reduce it to 25 cm by using spectacles. Find the power and nature of the lens used
by him.

(i) Draw a ray diagram to show the correction of the defect by using an appropriate
lens.

An organic compound A is widely used as preservative in pickles and has a molecular
formula C,H,O,. This compound reacts with ethanol to form a sweet smelling
compound B. Name the compound A and B and write their structural formula.

The elements of the second period of the periodic table are given below.
Li. Be B C N O F Ne

a) Give reason to explain why atomic radius decreases from Li to F.
b) Identify the most metallic and non metallic element.

c¢) How does valency change from Li to Ne.

o~ o~ o~

List and describe in brief any three methods of keeping gap between the birth of two
children.

State the analogy between wings of a butterfly and wings of a bird. What does it indicate ?

(i)  “Organs or features may be adapted to perform new function during evolution.”
Justify this statement by giving an example.

(i) “Older body designs are not inefficient.” Give a suitable example in support of
this view.

How is the sex of a new born determined genetically in human beings ? Explain.

(i) Name the type of mirror used by a dentist to examine the teeth of a patient.
(i) Name the type of mirror used as a rear view mirror in motor cars.

(i) Draw ray diagrams to show the image formation in both the above cases. Also
state the position and nature of the image so formed.

OR
(i) Name the type of lens used by watch repair mechanics.
(i) Name the type of lens used to get virtual and diminished image of an object.

(iii) In both the above cases draw ray diagrams. Also state the position nature and
size of the image formed in the above cases.

(a) What is a homologous series of organic compounds ? List any two characteristics
of a homologous series.

(b)  Write a chemical equation to represent what happens when hydrogen gas is passed
through an unsaturated hydrocarbon in the presence of nickel acting as a catalyst.

(c) Describe a chemical test to distinguish between ethanol and ethanoic acid.
OR
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(a) Write the molecular formula of an organic compound having its name suffixed
with ol’ and having two carbon atoms in the molecule. With the help of
balanced chemical equation indicate what happens when it is heated with excess
of concentrated H,SO, .

(b)  Write name of the following compounds
(i) HCOOH (i) CH,CO CH, CH,4

(c)  Explain why carbon generally forms compounds by covalent bonds.

25. (a) Sketch a neat diagram showing male reproductive system in human beings and

label on it the following :
(i) vas deferens, (i) prostate glands
(iii) seminal vesicle and  (iv) testis

(b) Why are the testis situated outside the abdominal cavity ?

(c)  Write the function of prostate gland and seminal vesicles.

OR

(a) Sketch a neat diagram of longitudinal section of flower showing fertilization of

pollen on stigma and label on it the following :

(i) pollen grain (i) male germ cell,
(iii) female germ cell (iv) ovary
SECTION - B

26. In the following four experimental set ups A,B,C and D for tracing the path of a ray of
light passing from air through a rectangular glass slab, the best result will be obtained

in :
.Pl ([ Pl
ol ol
(A) (B)
or, ol
.PZ ® P 2
Q) (D)
(@) A (by B (c) C (d D

27. Sheela obtained a sharp image of a distant tower on a white screen by using a convex
lens. In order to determine the focal length of the lens Sheela should measure the distance
between the :

(@) lens and the tower only

(b) screen and the tower only

(c) lens and the screen only

(d) lens and the screen and also between the tower and the screen.
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28.

29.

30.

In the glass slab experiment, four students A,B,C and D measured angle of incidence
and angle of emergence as shown in the following diagram. The student who measured
the angle correctly is :

@ A

A student performed an experiment for finding focal length of a concave mirror using
a distant object. What was the best method followed by him ?

(a) hold the mirror in hand and keep the screen in a stand kept behind the mirror.

(b) hold the mirror in a stand and hold the screen in hand with the screen in front of
the mirror.

(c) keep both the mirror and screen in suitable stands with the screen put behind the
mirror.

(d) Keep both the mirror and screen in suitable stands with the screen put in front of
the mirror.

A student has to determine the focal length of a convex lens by focusing the image of a
distant object on the screen. For conducting this experiment he wants to use the
minimum material. Out of the following four sets A,B,C and D the best choice for him
is:

set A : Convex lens, Lens holder, candle, screen with stand

set B : Convex lens, lens holder, screen with stand, measuring scale
set C : Convex lens, lens holder, concave lens, measuring scale

set D : Convex lens, burning candle, screen with stand, a lens holder

@ A (b) B (© C (d) D
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31.

32.

33.

34.

35.

Two beakers A and B contains Iron (II) sulphate solution. In the beaker A is placed a
small piece of copper and in the beaker B is placed small pieces of Zinc. “Grey deposit
forms on the zinc but not on the copper”, was observed by a student while performing
this experiment. From this observation he should conclude that :

(@) Zn is most active metal followed by iron and then Cu.
(b)  Zn is most active metal followed by Cu and then Fe
(c) Feis most active metal followed by Zn and then Cu
(d) Fe is most active metal followed by Cu and then Zn.

Four strips labelled A,B,C and D along with their corresponding colours are shown
below. Which of these could be made of Aluminium ?

A B C D
Reddish Dark Blackish Silvery
Brown Grey grey white
@ A (b) B (© C (d D

A few drops of ethanoic acid are added to solid sodium hydrogen carbonate by a
student. He would immediately observe that :

(a) ahissing sound is produced

(b) brown fumes evolve

(c)  brisk effervescence takes place
(d) apungent smelling gas evolves.

Seema took 4 mL of ethanoic acid in two test tubes I and II each. She dipped a strip of
blue, red litmus paper in test tube I and added solid sodium hydrogen carbonate in test
tube II. She observed that the :

(A) Red litmus turn blue in I and no change occurs in II test tube
(B) Blue litmus turns red in I and brisk effervescence occurs in II test tube
(C
(

) Red litmus turns blue in I and a gas of odour like vinegar evolved in II test tube
D) Blue litmus turned red in I and a gas which supports combustion evolved in II

test tube.
The correct observation is :
(@ A (b B () C (d D

Neeta added 2 mL of acetic acid in 5 mL of water. She stirred the mixture and observed
after keeping the mixture undisturbed for some time that :

(@) The acid formed a separate layer on the top of water.
(b) Water formed a separate layer on the top of acid.

() A clear and homogenous solution formed

(d) A pink and clear solution formed
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36. Out of given diagrams, the correctly labelled diagram showing budding in yeast is :
Nucleolus . Nucleus of mother cell

Nucleus Nucleus of daughter cell

Nucleus of Bud Nucleolus of bud

Tuklesiis Gt peast Nucleolus of yeast

(i) (iv)
(@) i (b) i (c) i d) v

37. Four stages of binary fission in amoeba are shown below. The stage in which nuclear
fission and cytokinesis is seen is :

1 I 0 v
(@) @ (b) (i) (c) (i) (d) (iv)

38. Identify the mistake in following sketch of budding in yeast.

Bud

(a) Bud is shown to be smaller than parent cell.
(b) Nuclei are present in both parent cell and bud.
(c) Both parent and bud are shown as single cell.
(d) Bud is wrongly labelled.
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39.

40.

41.

Percentage of water absorbed by raisins is calculated by a formula.

(a)

(d)

The given slides A and B were identified by four students P, Q, R and S as stated

increase in weight of raisins

weight of water taken

increase in weight of raisins

weight of raisin taken

increase in weight of raisins

weight of water absorbed

increase in weight of raisins

weight of the soaked raisins

below:

-

X 100

X 100

X 100

X 100

(A) (B)
Student Slide - A Slide - B
P Binary fission in Amoeba |Daughter cells of amoeba

Budding in yeast

Buds of yeast

Binary fission in Amoeba

Buds of yeast

wni= |0

Budding in yeast

Daughter cells of amoeba

The correct identification has been made by :

P (b) Q

(

In the experiment on determining the percentage of water obserbed by a given sample
of raisins, the soaked raisins should be wiped gently before determining the final mass.

a)

The best material for wiping the raisins is :

(

(
(
(

a)
b)
<)
d)

hot air blower
dry cotton wool
dry cotton cloth
filter paper.
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10.

11.

12.

13.
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21.

22,

23.
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